AP Calculus AB

     Section 3.4: Concavity and the Second Derivative Test Days 1-3
1. Completely analyze the function by discussing all intercept(s), asymptotes, extrema, regions where the function is increasing and decreasing, points of inflection and regions of concavity. Then, sketch the function. Justify using the first and second derivatives. 
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2. The graph of the derivative of the function
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 is pictured below on the given interval. State & justify the intervals on which 
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 is increasing and decreasing and the regions of concavity. State & justify the extrema and points of inflection. 
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4. Analyze and sketch the graph of the following functions QUOTE 
  by finding all relevant information.  Justify extrema using both the first and second derivative tests.
  
  a. 
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3. Sketch a possible graph of /(¢)given the following information. -
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